ohE EE B RO 0] B2 Astetel £AHE Aole)
(D) | Y | (Y | (+2) | (+2)
(-3) | (:3) | (+2) | (+2) | (+2)
(-2) | (2) | (1) | (+1) | (+1)
(+1) | (+1) | (+1) | (4) | (-4
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> ®MEH 72FE 472
> "E! 4EE+4
> HEH 16 B2 +16
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(=1) x (=1) x (=1) x (+2) x (+2)
=(-1)x(+4) = -4
(=3) X (=3) x (+2) x (+2) x (+2)
= (+9) x (+8) = 72
(=2) x (=2) x (+1) x (+1) x (+1)
=(+4)x (+1) =4
(+1) X (+1) X (+1) x (=4) x (-4)
= (+1) x (+16) = 16
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(D) [ (D) [ () | (3] (=27
L 36 X +36
S AEE 4
L 36 E: 436
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12X (1) X (1) X (+2) X (+2) =9x 1 x4 = 36
(+1)?x (-1)x (1) =4x1x1=4
(-1) x (+3%) x (-22)
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® -42x(-3)?2 =-144




@ (-3)?2-(-3)=12 @ -32-(-3)=-6
® -3-(-3)2=-12 @—32 +(-3)=-6
® (-2)2-(-4) =38

@ -32+(-3) =-9+(-3) =-12
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® 2012 @ -2012
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(=1)2011 x (=1)2012 x 12011
=-1x1x1=-1
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(0¥ =-1, ()*F =1
1-(-1)-1=1+41-1=1
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> EE: 0

(1) + (<1 + (1 - (1)
=-1+1-1+1-1+---+1
=0
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D —22 — (=3)* 47 @) (1) x (-5)?
® (-16) x (-1) - 19 @ 18+ (=3)2x (-1)?

® 35-14x (-2?)

B

@ -22— (=33 +7=-4-(=27)+7
=-4+4+27+7=30
@ (—4) x (=5)% = (=4) x (+25) = =100
® (-16) x (-1)> =19 = (-16) x (-1) - 19
=16-19=-3
@ 18 + (=3)2 x (-1)? = 18 + (+9) x (+1)
=2x(+1)=2

® 35— 14 x (-22) = 35— 14 x (-4)
=35+ 56 = 91
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12. o2 F AXt At &= A= 22 2120
@<_1)2 +6x(-2)° @ (-6)x(-2)2+3
® (=3)? x (=2)° + (-6) @ 12— (—4)2 x (-1)

® (-4) - 23 + (-3)3

B

@ (-1)2+6x(-2)2=1+6x(-8)

=1+ (-48)
= 47
@ (-6)x (-2)2+3 =(-6)x4+3
=-24+3
=-21
® (-3)2x(-2)> 4 (-6) =9 x (-8) + (-6)
= (=72) + (-6)
=-78
@ 12-(-4)2x(-1) =12-{ - (16) x 1}
=12 - (-16)
=12+16
=28
® (—4)-23 4 (-3)% = (-4) -8+ (-27)
= (-4) + (=8) + (-27)
=-(4+8+27)
= -39

=78 < 47 < -39 < -21 < 28
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576 T+ +576

(=1%) x (=2)* x (32) x (=1)° x (=4)°
=-1x4x9x(-1)x16 =576
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(=2)? x (=3) x (-4?)
(-3%) x| - 2% x (-1)°
(—4)% x (-17)
(=67) x (=2?)
(=3%) x (-1%) x (-1)*

>
> ®E: 9

[
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&8

(-2)? % (=3) x (~42) = 102
(=33) x| - 2% x (-1)> = 108
(4) (13)—64
(—6%) x (-22) = 144
(-3 x (-1P)x (-1)* =9
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(=1100) _ (1100 4 199) 5 (_1)99
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the A9 ghe AstetA?
_(_1)98 + (_1)99 + (_1)100 + (_1)101

—(=1)%8 4+ (=1)9+(=1)1004 (=1)10! = 14 (=1)+1+(-1) = -2
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@ -32x(-1)=9

15

© (=D (-1)

4%x9 =36

® (-2)* x (-3)?







©))!

, (_l)n-i-l — _1, (_1 n-1 _ _
)n+1 _ (_1)n—1 ) !
+1) + (1) = (=1) = (+1) + (=1) + (+1) = +1
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17-[3-(-2)?x {9+ (-3)}]
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23. =< AddstEt (F 0 2 &)

(_1)n+1 X (_1)n—1 _ (_1)n
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(_1)n+1 X (_1)n—1 _ (_1)n

=(-1)x(-1)-1

=1-1=0
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® -3 @ -1 ® 0 @N ® 3




25. =< Axtstedet

-32 - [7-9+ {32+ (-2)3} x 5]

Ct "
=Y

>
[> HEM: 29 B 429

B

-32 - [7-9+ {32+ (-2)3} x 5]
-9-[7-9+{9+(-8)} x5]
—-9-{7-9+(+1) x5}

-9 - {7-(+45)}

-9 - (-38)
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26. H=< AxtsE?

15— [6x{(-3)? +5} + 27]

@-7 @-u O-u @ -9

15— [6x {(-3)2+5} + 23]
=15-[6x {(+9) + 5} + 8]
=15-{6x (+14) + 8}
=15- (84 +38)

=15-92

= -77




27. A-(-2x3=-5, (-3 +B+8=11 Y A-B 9 PR &L

A
A2?

D 15 @16 ® 17 @ 18 ® 19

B |

A-(-2?x3=A-4x3=A4-12=-5
(-3%)+B+8=-27+B+8=11
(-27)
B=-—+=-9
3

A-B=T—(-9)=7+9=16
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29. b= AT AT F 0 P A2?

@ 22 -1x3? @ (-12)+(-2)*-(-2)
C@)(—5)2 x 22 + (-10) @ 5% - (-2)3 +32
® 75+ (-5)? x 22

B
AN Ha Aulgho] A
D22-1x32=4-1x9
=4-9 =-5
| -5 =5
@ (-12) = (-2)2 = (-2) = (-12) + 4+ 2
=-3+2 =-1
|-1]=1
® (-5)2x 2% +(-10) =25x4-10
=100 - 10 = 90
190] = 90
@52-(-2)3+32=25-(-8)+9
=25+8+9 =42
|42] = 42
® 75+ (-5)2x22=75+25x%x4
=3x4=12
[12] = 12
ALt A3 F Adigle] 7 2 A2 @9 90 ot
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31. A= (-15)+6>=(=3), B=4x(-6)=(-2°) €W, A= B 9 g
T-stofzt.

> E:

A = (-15) + 62 + (-3)
= (-15) + 36+(-3)
= (-15) + (-12) = -27
B =4 x (—6)+(=23)
4% (—6)+(=8)
4)+(-8
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y==[{(-1)1%° + 72} = (=5)] oI, x x| <4 B
Ay o] eFprt obd AL B H ANRIZI(E, x> 0)

@ 1 @ 2 @5

B

@ 7

A o, x F

® 1

y==[{-1'®+7} = (-5)]
= - [{(+1) + 49} + (-5)]
=-{50+(-5)}
= —(~10)
=10
x=-3, -2 -1,0 1,2 3
ye ekrE 1, 2, 5 10 °|BE=
=3, -2, -1,0, 3% 57
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